L27
Section Three
Bl Jadl)
.51 Ll
According to the rules of I’laal, the verb cannot remain on the pattern ‘Ua¥ since
the weak letter cannot support its own vowel. The vowel on the weak letter is
elided leaving it saakin. The saakin weak letter transforms to Alif.
el & €2
This does not happen in the 2" seeghah.
The procedure in the 3":
| 523 & lled & )52l
The procedure in the 4
Sl & Gled & &gl
The fifth seeghah only adds an Alif to the 4. Beginning with the sixth seeghah,
the third original letter must be saakin as a rule.
Gsed el (el el el el
Gisen (aised «hsed a8 (i 523 (Caged
Liged «Cused
The first seeghah of the present tense active voice is based on the pattern of
‘U247, In the first seeghah the weak letter becomes saakin to complement the
preceding vowel.
PR
In order to let the 2" seeghah to add the Dual suffix, the weak letter takes a
Fathah.
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Forming the 3" seeghah results in two saakin letters meeting each other and
therefore the weak letter is elided.

ISR O35
The 4™ and 5% seeghah are similar to the 1%t and 2". No I’laal occurs in the 6. In

the 10" the weak letter is elided. And the preceding vowel changes to Kasrah for

agreement.
Sl ¢lsed e X (e d (Ol ey e
Q}C.J; cu\}:}:i\: ci):\cdi cdjr_d; cu\}éJ; c}cJ;
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